

Dmajsho motse leshe

16/Entobolo86

Mechanical engineering

$$\textcircled{1} (1-x^2) \frac{d^2y}{dx^2} - 2xy \frac{dy}{dx} + 2y = 0$$

$$(1-x^2)y'' - 2xy' + 2y = 0$$

taking first term

$$(1-x^2)dy''$$

$$\Rightarrow v = (1-x^2)$$

$$v' = (-2x)$$

$$v'' = -2$$

$$v''' = 0$$

$$u' = y''$$

$$u'' = y''''$$

$$C_0 y^{n+2} (1-x^2) + 2C_1 y^{n+1} (-2x) + C_2 y^n (-2)$$

$$y^{n+2} (1-x^2) + n y^{n+1} (-2x) + \frac{n(n-1)}{2} y^n (-2)$$

$$y^{n+2} (1-x^2) + n y^{n+1} (-2x) - n(n-1) y^n$$

for mode 2

$$-2x \frac{dy}{dx} \Rightarrow -2y'$$

$$v = -2$$

$$v' = 0$$

$$u = y'$$

$$u'' = y''''$$

$$C_0 y^{n+1} (-2)$$

$$-2y^{n+1}$$

for mode 3

$$2y$$

$$C_0 y^n$$

$$v = 2$$

$$C_0 y^2$$

$$2y^n$$

$$y^{n+2} (1-x^2) + n y^{n+1} (-2x) - n(n-1) y^n - 2y^{n+1} + 2y^n = 0$$

$$y^n$$

$$0 = -2C_0$$

$$C_0 = 3$$

$$\text{when } s = 3$$

$$3^2 - 3(3) - 4 = A(3-0)^2$$

$$(1-x^2)y^{(n+1)} - 2xy^{(n)} - 2n(n-1)y^{(n)} - 2xy^{(n+1)} - 2ny^{(n)} + y^{(n)} = 0$$

$$(1-x^2)y^{(n+1)} - 2x(ny^{(n+1)} + y^{(n+1)}) + y^{(n)}(2n + 2) \geq 0 \quad \frac{2n}{(n!)} = 0$$

Now at $x=0$, eqn 6 becomes

$$y^{(n+1)} + 2y^{(n)}(-n+1) = 0$$

$$y^{(n+1)} = -(n+1)2y^{(n)} \quad (7)$$

Eqn (7) gives the recurrence equation.

$$y^{(n+1)} = 0 \quad \text{with } y_0 = 0$$

$$y^{(3)}_0 = 0 \quad \text{--- (8)}$$

$$y^{(4)}_0 = 2y^{(3)}_0 = 2(-2y_0) = -4y_0 \quad \text{--- (9)}$$

$$y^{(5)}_0 = 4y^{(4)}_0 = 4(0) = 0 \quad \text{--- (10)}$$

$$y^{(6)}_0 = 6y^{(5)}_0 = 6(-4y_0) = -24y_0 \quad \text{--- (11)}$$

$$y^{(7)}_0 = 0 \quad \text{--- (12)}$$

$$y^{(8)}_0 = 10y^{(7)}_0 = 10(-24y_0) = -240y_0$$

Recall the Maclaurin series

$$y(x) = y_0(x) + x y'_0(x) + \frac{x^2}{2!} y''_0(x) + \frac{x^3}{3!} y'''_0(x) + \frac{x^4}{4!} y^{(4)}_0(x) + \dots$$

Now substitute eqn (9), (10), (11), (12) into eqn (13) we have

$$y(x) = y_0(x) + x y'_0(x) + \frac{x^2}{2!} (-2y_0) + \frac{x^3}{3!} (0) + \frac{x^4}{4!} (-24y_0) + \dots$$

$$y(x) = y_0 \left(1 - \frac{2x^2}{2!} - \frac{24x^4}{4!} - \frac{240x^6}{6!} - \frac{240x^8}{8!} \right)$$

$$y(x) = y_0 \left(1 - x^2 - \frac{2x^4}{6} - \frac{10x^6}{20} - \frac{5x^8}{168} \right)$$

2

Factorize each of the following function into

Linear factors

$$s^2 - 9s + 14$$

$$\frac{3}{(s+5)} - \frac{5}{(s-5)}$$

3) $s^2 - 9s + 14$

$$\frac{0}{s^2 - 9s + 14} + \frac{5}{s^2 - 9s + 14}$$

$$\frac{5}{s^2 - 9s + 14}$$

$$\frac{5}{(s-2)(s-7)}$$

4) $s^2 + 2s^2 - 14$

$$\frac{3s}{s^2} + \frac{2s}{s^2} - \frac{1}{s} + \frac{4}{s}$$

$$\frac{3s + 2s}{s^2} - \frac{1}{s} + \frac{4}{s}$$

$$\frac{5s}{s^2} - \frac{1}{s} + \frac{4}{s}$$

$$\frac{5s - s + 4s}{s^2} = \frac{4s^2 - s^2 + 4s + 6}{s^2}$$

$$\frac{(s+3)(s+2)}{s^2 + 5s + 6}$$

$$e^{-2t} \cos 5t$$

using shift method

$$\cos t = \frac{s}{s^2 + 1}$$

$$= \frac{s}{(s+2)^2 + 25} \text{ when } s = \frac{1}{s}$$

$$\frac{(s+2)}{(s+2)^2 + 25}$$

$$\frac{(s+2)}{s^2 + 5s + 25}$$

$$\frac{s+2}{s^2 + 5s + 25}$$

1) $f(s) = \frac{3}{s^2 + 9}$

$$\sin t = \frac{1}{s} \quad t = \frac{1}{s}$$

$$\frac{3}{(s^2)^2 + 3^2}$$

$$= \frac{3}{s^2 + 9} \cdot t \left(\frac{3}{s^2 + 9} \right) \Rightarrow -\frac{d}{ds} \left(\frac{3}{s^2 + 9} \right) = \frac{6s}{(s^2 + 9)^2}$$

$$\frac{e^{-t} - e^{-2t}}{t} \Rightarrow \frac{\left(\frac{1}{s+1} - \frac{1}{s+2} \right)}{t}$$

Subst: $(s^2-3s-2)^{-1/2}$
 $s^2-3s-2 = (s-4)(s+2)$
 $s^2-3s-2 = (s-4)(s+2)$

$$Y = \ln \left(\frac{1}{s+1} - \frac{1}{s+2} \right)$$

$$= \ln \left(\frac{1}{s+1} - \frac{1}{s+2} \right) = \ln \left(\frac{(s+2) - (s+1)}{(s+1)(s+2)} \right) = \ln \left(\frac{1}{(s+1)(s+2)} \right)$$

$$= \ln \left(\frac{1}{(s+1)(s+2)} \right) = \ln \left(\frac{1}{s^2+3s+2} \right)$$

$e^{4t} \cos 4t$

$$s = e^{4t}$$

$$\frac{s-4}{s^2+4s} \Rightarrow \frac{1}{s-4}$$

$$\frac{s-4}{(s-4)^2+4^2}$$

$$s-4 \Rightarrow \frac{s-4}{s^2-8s+32}$$

$e^{5t} \sin 2t$

$$\sin 2t = \frac{2}{s^2+4} \Rightarrow \frac{2}{s^2+4}$$

$$f \left(\frac{2}{s^2+4} \right) \Rightarrow \frac{4s}{(s^2+4)^2}$$

Umjaja Mate laste
 I Ganabrase
 MATHS - ENGINEERING

①

$$f(s) = 4s^2 + 5$$

$$= \frac{3s}{s^4} + \frac{4s^2}{s^3} + \frac{5}{s}$$

$$= \frac{3}{s^3} + \frac{4s}{s^3} + \frac{5}{s}$$

$$e^{4t} (e^{2t} + 4)$$

$$\frac{1}{s-3} \left(\frac{3s+4}{s} \right)$$

$$\frac{1}{s-3} \left(\frac{2s+4s^2}{s^4} \right)$$

$$\frac{2s^2+4s^2+2s}{s^4(s-3)}$$

$f(s) \cos t$

$$\frac{1}{s+1} (s) f$$

$$\frac{1}{s+1} (s^2+3s)$$

$$(s^2+1)(s^2+1) = s^4 + s^2 + s^2 + 1 = s^4 + 2s^2 + 1$$

$$f \cos t = \frac{6s}{s^2+1}$$

$$f = \frac{(s^2+1)(1) - 5(2s)}{(s^2+1)^2}$$

$$= \frac{-d}{ds} \left[\frac{s^2+1 - 2s^2}{(s^2+1)^2} \right]$$

$$= \frac{-(s^2+1 - 2s^2)}{(s^2+1)^2}$$

$$= \frac{s^2+1+2s^2}{(s^2+1)^2}$$

$$= \frac{3s^2+1}{(s^2+1)^2}$$

$$= \frac{3s^2-s^2-1}{(s^2+1)^2}$$

$$= \frac{2s^2-1}{(s^2+1)^2}$$

$$= \frac{2s^2-1}{(s^2+1)^2}$$

$$= \frac{2s^2-1}{(s^2+1)^2}$$

$$= \frac{2s^2-1}{(s^2+1)^2}$$

$$= \frac{2s^2-1}{(s^2+1)^2}$$

$$= \frac{2s^2-1}{(s^2+1)^2}$$

$$= \frac{2s^2-1}{(s^2+1)^2}$$

$$= \frac{2s^2-1}{(s^2+1)^2}$$

$$= \frac{2s^2-1}{(s^2+1)^2}$$

$$= \frac{2s^2-1}{(s^2+1)^2}$$

$$\frac{2s}{s^3} + \frac{1}{s^3} + \frac{1}{s^3}$$

$$\frac{2s+1}{s^3} + \frac{1}{s^3}$$

$$\frac{2s+1+1}{s^3} = \frac{2s+2}{s^3}$$

$$\frac{2(s+1)}{s^3}$$

$$\frac{2(s+1)}{s^3}$$

$$\frac{2(s+1)}{s^3}$$

$$\frac{2(s+1)}{s^3}$$

$$\frac{2(s+1)}{s^3}$$

$$\frac{2(s+1)}{s^3}$$

$$\frac{2(s+1)}{s^3}$$

$$\frac{2(s+1)}{s^3}$$

$$\frac{2(s+1)}{s^3}$$

$$\frac{2(s+1)}{s^3}$$

$$\frac{2(s+1)}{s^3}$$

$$\frac{2(s+1)}{s^3}$$

$$\frac{2(s+1)}{s^3}$$

$$\frac{2s+2}{s^3} = \frac{2s}{s^3} + \frac{2}{s^3} = \frac{2}{s^2} + \frac{2}{s^3}$$

$$= \frac{2}{s^2} + \frac{2}{s^3}$$

$$= \frac{2}{s^2} + \frac{2}{s^3}$$

$$= \frac{2}{s^2} + \frac{2}{s^3}$$

$$= \frac{2}{s^2} + \frac{2}{s^3}$$

$$= \frac{2}{s^2} + \frac{2}{s^3}$$

$$= \frac{2}{s^2} + \frac{2}{s^3}$$

$$= \frac{2}{s^2} + \frac{2}{s^3}$$

$$= \frac{2}{s^2} + \frac{2}{s^3}$$

$$= \frac{2}{s^2} + \frac{2}{s^3}$$

$$= \frac{2}{s^2} + \frac{2}{s^3}$$

$$= \frac{2}{s^2} + \frac{2}{s^3}$$

$$= \frac{2}{s^2} + \frac{2}{s^3}$$

$$= \frac{2}{s^2} + \frac{2}{s^3}$$

$$= \frac{2}{s^2} + \frac{2}{s^3}$$

$$= \frac{2}{s^2} + \frac{2}{s^3}$$

$$\frac{18s^2 + 45}{(s-3)(s-4)}$$

Convert the following function to time domain

(1) $\frac{18s^2 + 45}{(s-3)(s-4)}$

$$= \frac{A}{s-3} + \frac{B}{s-4}$$

$$18s^2 + 45 = A(s-4) + B(s-3)$$

when $s = 4$

$$4 - 5 = A(4-4) + B(4-3)$$

$$-1 = B$$

when $s = 3$

$$3 - 5 = A(3-4)$$

$$A = 2$$

$$\frac{2}{s-3} - \frac{1}{s-4}$$

Let's have
Engineering

$$\frac{2s-6}{(s-2)(s-4)}$$

$$= \frac{A}{s-2} + \frac{B}{s-4}$$

when $s = 2$

$$2(2) - 6 = A(2-4)$$

$$-2 = -2A$$

$$A = 1$$

when $s = 4$

$$5s - 8 = A(s-4) + B(s)$$

$$12 = 4B$$

$$B = 3$$

$$\frac{2s-6}{(s-2)(s-4)} = \frac{1}{s-2} + \frac{3}{s-4}$$

$$2s - 6 = A(s-4) + B(s-2)$$

when $s = 4$

$$2(4) - 6 = B(4-2)$$

$$2 = 2B$$

$$B = 1$$

when $s = 2$

$$2(2) - 6 = A(2-4)$$

$$-2 = -2A$$

$$A = 1$$

when $s = 4$

$$5s - 8 = A(s-4) + B(s)$$

$$12 = 4B$$

$$B = 3$$

when $s=0$

$$5(0) - 8 = A(0-4)$$

$$-8 = -4A$$

$$A = 2$$

$$\frac{A}{s} = \frac{2}{s-4}$$

$$\frac{2}{s} + \frac{3}{s-4}$$

$$2t + 3e^{4t}$$

$$\frac{92 - 3s - 4}{(s-3)(s-1)^2}$$

$$\frac{92 - 3s - 4}{(s-3)(s-1)^2}$$

$$s^2 - 3s - 4 = \frac{A}{s+3} + \frac{B}{s-1} + \frac{C}{(s-1)^2}$$

$$s^2 - 3s - 4 = A(s-1)^2 + B(s+3)(s-1) + C(s-1)$$

when $s = 1$

$$1^2 - 3(1) - 4 = C(1-1)$$

$$-6 = -2C$$

$$C = 3$$

when $s = 3$

$$3^2 - 3(3) - 4 = A(3-1)^2$$

$$(s^2 + 4s + 20)$$

$$\frac{A}{(s+2)(s+4)} + \frac{B}{(s+2+4s)} = \frac{s-5}{(s+2)(s+4)(s+2+4s)}$$

$$\frac{A}{s} = -2+4j = \frac{(s+4j)-5}{(s+2)(s+4)} = \frac{-7+4j}{s} \times \frac{1}{j}$$

$$= \frac{-7j-4}{8}$$

$$\frac{B}{s} = -2-4j = \frac{-2-4j-5}{(s+2)(s+4)} = \frac{-7-4j}{s} \times \frac{1}{j}$$

$$\frac{B}{s} = -2-4j = \frac{-7j+4}{8}$$

$$F(s) = \frac{-7j+4}{8} + \frac{-7j+4}{8(s+2+4s)}$$

$$F(t) = \mathcal{L}^{-1}(F(s))$$

$$F(t) = \frac{-7j+4}{8} e^{-(2+4j)t} + \frac{-7j+4}{8} e^{-(2-4j)t}$$

$$F(t) = \frac{-7j+4}{8} (e^{-(2+4j)t} - e^{-(2-4j)t})$$